T

sl

G

gl

g



D~ | <
X X
o<t o ||
I Il 475
|
A | < .
._. ._.
10 =<t (ol

@ © O



3. oo Aol g3t 2

A2 AL o AJY7L?
104 +1.3
O 24+0.3 @ 72+09
@ 19.2+24

@ 84+1.2
® 4806







<m
o}
%o

T
AR

T gol AS5HAE

Auna g

A
[}

+ql

o7} lem

=]
an

7ol
Yk, 27k A4 2 AL o= ALY

5

5.

@

@




.:L
:11_4 [ R

OFO oF ©
= Ii,
o

o




7.

T & Hl9f ghol 25: 359k 22 A

D 1:10
@ 5:7

@ 10:15

® 125:135

Tlo



o
ol
rio

@
2A



o 2" oa g st Eo] Fotste AHE 2AG ¢
aHZAU T ohg Az A] 7H Bl Fotste A 4
A Zolol= Al &2 F % YU
0
75 25
50

D 15% @ 35% ® 45% @ 55% ® 60%



10. v 7hx o WEleska x = 2 9 W,y = 109Uk olu) x oy o
BANE oA,

®y=15=+x @ y=20+x ® y=x+20

@ y=x+25 ® y=5+x



@ 471%, 15

@ AA71E, 12

o] 27} 7AYo}
®

ZAEE uAdYt
= (gt
7] Sk 9y

1

w2

71, 21

T

N
_ZE

@ S7715, 18



12. ©g % %ol

1

® =
3
10



13. ©he F £ 2L AL o AU

®3d2-3:2

@ 4 AHFT7YH - 47
5

@5:8—>g

@ 6 9] 12 o i H] — 0.5
1



14. 99 Ee9] Zol} 1ss4cm 91 2] WAE] Pol F emP U7}

@ 10ecm @ 15ecm ® 20ecm @ 25¢cm @ 30cm






